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Homework answer
Distance between A and x is 8 km
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Hw Answer:
2.8km
Tysm mam nice session

s GP  REPLY

mitali apurva 6 hours ago

H.W. answer: option 2- 8 kms.
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Answer of Today's homework
Option 2....8km.
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Option 2 (8km)

@b P  REPLY

Jyoti Thakur 1 hour ago
Home work 2) 8km
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Point E is 5 km to the South of point A. Point I is 5 km to the East of point E and point O is 5 km
to the South of point I. Point U is 2 km to the West of point O while point V is 3 km to the south of
point U. Point W is 3 km to the West of point V and point X is 5 km to the north of point W. What
Is the distance between A and X?

A%s%lﬂaf\&mﬁ%lﬁg Ig E & 5 fl gd # 7 3R g O, fig | & gfémr & 5 fpe
%;@3 fdg o & ufdm 4 2 forelt 3 e v%u%af‘&mﬁsﬁo‘d’r w, fdg v & ufgm o
3R fa x,ﬁgw%wﬁs%ﬁ’r% X & ot B g3t T 82

1) 6 km
2) 8 km
3) 10 km
4) 9 km
5) 12 km
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Certain number of person is sitting in
a row facing towards north direction.
Following information is known about
them : Only two persons are sitting
between H and C, who is sitting 5thto
the right of B. C, is sitting 3" from the
right end. D is sitting at left most end
of the row and there are only two
persons sitting between D and A. Fis
sitting just in the middle of A and B
and 2ndto the right of A. Not more
than two persons are sitting between
B and G and G is sitting just next to
H. There are only one person is
sitting between G and C
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]| ]| T ] how many persons are sitting in the row?
’ A F B HG C 1) 10 2)12 3) 14 4)15 5) None of these

How many persons are sitting to the left of
person which is 3@ to the right of H?
1) 10 2)11 3)12 4)13 5) 14

How many persons are sitting between F
and H?
1)2 2)3 3)4 4)5 5)6
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Statements:
RSPSQ;R2S>TsM=U

Conclusions: 1.Q>T I.R2M

1) Only Il is True

2) Only I'is True

3) Both | and Il are True
4) Either l or Il Is True
5) None is true

Statements:
P<R<D<A<N;P>F=S

Conclusions: .LA=F

1) Only Il is True

2) Only I'is True

3) Both I and Il are True
4) Either l or Il is True
5) None is true

. F <A



http://www.mahendras.org/

/ Hatiewdrna's / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Statements: P<Q2G; G2I2E; C<P;C>U | |Statements: Y=0sG=sK=U>L>P;Y=A2R
Conclusions: .L.U>1 Il. PSE ConclusionsLU>R Il.R=U

1) Both | and Il are True 1) Only Il'is True

2) Only Ilis True 2) Only lis True

3) Either l or Il is True 3) Both I and Il are True

4) Only l'is True 4) Either I or Il is True

5) Neither I nor Il is true 5) None Is true
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Statements: N2T>P=A2Z=K: N=B>D
Conclusions|.D2ZIl.B > K

1) Only Il is True

2) Only I'is True

3) Both I and Il are True
4) Either | or Il is True
5) None is true
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9 friends A,B,C,D,E,F G, H,and | are
sitting around a circular table of which 4
are facing the cen-ter while others are
facing outside. 3 people are sitting
between A who is sitting to the immediate
left of E and | who is facing outside. F and
D are immediate neighbors of | and are
facing the oppo-site direction. The equal
number of persons sits between A and H
and A and B. B and D are the im-mediate
neighbors and facing the opposite
direction. G sits between A and B and
facing outside. C sits third to the right of
A and facing the same direction as of G. |
IS sitting third to the right of H who faces
the same direction as that of D.
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What is the position of the person who is sitting second to the left

of F?

1) Third to the right of G 2) Third to the right of C 3)
Third to the left of A

4) Fourth to the right of E 5) Immediate left of B

How many people are sitting between H and D if counted from the
left of D?
1)5 2) 2 3)4 4) 3 5) 6

Which of the following is true?
1) Fis the immediate neighbor of B.
2) D is facing the same direction as that of E.

3) B is third to the right of E.
4) A, E, Hand F are facing towards the center.
5) A is sitting forth to the right of I.
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What is the position of F with respect to
B?

1) Third to the left

2) Immediate left

3) Third to the right

4) Fifth to the right

5) Sixth to the right

Who is sitting exactly between G and F?
1)D 2)H 3)B 4)E 5)I
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How many such pairs of letters are there in the word GRANDEUR each of which
has as many letters between them in the word as in the English alphabet

(considering both ways).

Y& GRANDEUR H 31&R} & UH foaq g 8, o d & e & dg Sa- &1 31&R 8
foraq f& siiSht auivTar # (G YR | faaR &3d §U) |

1)1 2)2 3)3 44 5)5
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6 person, "A, B, C, D, E, F" goes for a movie on 6 different days from Monday to
Saturday. A goes 2 days after D but before Friday. There is a 3 days gap between C
and E. B goes on Saturday. F goes immediately before A. Who goes on Wednesday?
6 ofad, "T, ot, 1, 8t, 5, TH" ¥ YMAR % 6 TRI-3(ETT el A U fherd & forg
S8l A, D® 2 e a1g YEPAR I Ugd SITdl g1 C 3R E & o19 3 fa= 71 siav g1
B VAR ®I AT 81 F, A & 31P Ugd SI1dT 8 | FUAR P HI STl 872

)E 2)B 3)D 4)F 5A
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In a number ‘85214796’ if 2 1s added to all odd numbers and 1 is
subtracted from all even numbers, then what will be the difference
between the first digit from left end and the first digit from the right end?

TS @7 '85214796' H gfe Tt faww d=men & 2 SieT wrar @ 3k 9t 9w
@i § A 1 ST Srdr 2, ) 910 B8R A Ugd 3id 3R ¢’ ©R 9§ ugd
3P & A BT 3d T N2

1)7 2)6 3)5 4)2 5)3
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In the given word ‘EXPATRIATE’ if the vowels are changed to the next letter
and the consonants are changed to the previous letters as per the
alphabetical series, then which letter/letters are re-peated more than once?

feu U Treg 'EXPATRIATE' ¥ Ufe TR &1 3RTe 3R A 9¢d fear 9rdr g 8k
quIhH & IR o &l fUSd 3Rl § 9¢d fear Arar g, af s |
3[eR/3AeR] B TH A 3P IR SIgTAT SITdT 82

1)J,0 2)0, Q 3)W 4)0Q, J 5)B, F, S
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There are eight persons A, B,C, D, E, F, G, and
H, who live on four different floors among floor
1, floor 2, floor 3 and floor 4. Each floor has
two different flats viz. flat 1 and flat 2) There
are 2flats on each floor flat 1 —flat 2from left to
right in such a way that flat 1 of the fourth floor
Is exactly above flat 1 of the third floor and flat
1 of the third floor is exactly above flat 1 of the
second floor and other flats are situated in the
same way.C lives one floor above the floor on
which B lives. F lives with B who lives two
floors below D. B lives on the second floor. E
lives in flat 2 of the first floor. G lives on the
third floor but not in flat 1. H does not live on
the fourth floor but in flat 1. B lives in even
numbered flat. A and C live in flat 1 but on
different floors.
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who live in the flat 1 of floor 2?
Flatl Flat2 B 2)C 3)F 4A 5G
Floord A D
Who lives two floor below the floor on which G
Floor3 C G : )
lives in the same flat number?
Floor2 F B 1)A 2)F 3)C 4)E 5)None of these
Floor1H . Who lives on the same floors?

1) Hand G 2) Fand B 3) Cand B 4) Eand D
5) None of the above

Who live on the fourth floorofflat2? 1)H 2)C 3)A
4H)E 5D

Which of the following given pair is different from rest?

1) Hand C 2) GandE 3)Cand F 4) E and G
5 BandD
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Gﬁ'\'G ﬁﬁﬁ'\’ There are seven persons A, B, C, D, E, F and

@Waﬁ' ' ATTTAD G sitting in arow facing north direction but
P21 | TP BT S-S not necessarily in the same order. Each one
4 15 17.19. 21. 23 30X 40 has a different age (in years), i.e., 4 1.5, 17,
' ﬁ’qﬁﬁl EI"E'TJEI'% 19, 21, 23 and 40 but not necessarll)_/ in the
RPI Mg1999 8, cMRFP AT GBI -1 F same prd_er._ The person whose age is 19
E%gﬁ-@%mwﬁwam ﬁl’\‘lﬁ\’rﬂ'ﬁB' years is sitting between C and F F is sitting
Fead ARF I A BF P - o132 Rrae 3rd to the right of E whose age is 6 years
GH'QSWW% aﬁrﬂﬁﬁ%aﬁﬁ@ el more than that of B._A Sits just Immediately
E e,ﬁqu.ﬂé"-gmq}q |WW left of B whose age is a_multlple of 5 but not
%T’ﬁF%Eﬁ?TETa’aBTEI c o more than 20. Age_of F is the sum of the ages
3l (DI DI U TBAT 7, 9 Afad P &IT% of E and G. There is only one person who

TN UM RIS SRS IT 4@ 21 D B sits to the immediate right of F. C whose age

Is a two digit prime number sits 3rd to the
mGaﬂmﬁﬁﬁW%I right of the person whose age is 4 years. Age

of D is two years less than the age of G.
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There are seven persons A, B, C, D, E, F and
G sitting in a row facing north direction but
not necessarily in the same order. Each one
has a different age (in years), i.e., 4, 15, 17,
19, 21, 23 and 40 but not necessarily in the
same order. The person whose age is 19
years is sitting between C and F. F is sitting
3rd to the right of E whose age is 6 years
more than that of B. A sits just immediately
left of B whose age is a multiple of 5 but not
more than 20. Age of F is the sum of the ages
of E and G. There is only one person who
sits to the immediate right of F. C whose age
Is a two digit prime number sits 3rd to the
right of the person whose age is 4 years. Age
of D is two years less than the age of G.
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(4 years) {15 years) (21 years) (23 years) {19 years) (40 years) (17 years)
A B E C G F D

How many people sit between A and D?
1)5 2)4 3)3 4) 2 5) None of the above

What is the age of F?
1) 21 years 2) 40 years 3) 17 years
4) 15 years 5) 19 years

Which of the following is correct?

1) A sits third to the right of C

2) Age of Fis 19 years

3) Sum of the age of A and B is same as that of G
4) Only one person sits between F and D.

5) Age of Cis not a prime number.
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Four of the following are alike in a certain way and
so form a group. Which of the following does not
belong to the group?

1)BC 2)GD 3)GE 4)AE 5)CF

Which of the following is correct?

1) A sits third to the right of C

2) Age of Fis 19 years

3) Sum of the age of A and B is same as that of G
4) Only one person sits between F and D.

5) Age of C is not a prime number.

(4 years) {15 years) (21 years) (23 years) {19 years) (40 years) (17 years)
A B E C G F D
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Q24.How many such vowels are there in the above arrangement, each of
which is immediately followed by a vowel?
(a) One (b) Two (c) Three (d) Four (e) None

Q25. Which of the following element is exactly in the middle of 5th element
from the left end and the 15th element from the right end of the
arrangement?

()@ (b)© (c)% (d)T (e) None of these

Q26. Which of the following element is 6th to the left of the one which
14th from the left?
()3 (b)A (c)U (d) None of these (e) M
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Q27. How many such vowels are there in the above arrangement which immediately
proceeded by number and also immediately followed by a Vowel?
(a) Three (b) One (c) Four (d) More than Four (e) Two

Q28. How many such symbols are there in the above arrangement which are immediately
followed by a number and preceded by a consonant?
(a) One (b) Three (c) Two (d) More than Three (e) None of these

29. How many such numerals are there in the number ‘457891256’ which will remain at the
same position when arranged in descending order from left to right?
(a) None (b) One (c) Two (d) Three (e) More than three

E-:I:BO‘
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Only a few Students are Kids. Only Classes are Schools.

All Kids are Adults. Only a few Classes are Colleges.
No Adults are Children. All Colleges are Universities.
Conclusions: Conclusions:

. Some Students are Children I. No Schools are Universities

ll. No Children are Students Il. Some Schools can be Collegesa
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Q3. Statements: Q4. Statements:

All Files are Folders. Some Bananas are not Apples.
No Folders are Documents. All Bananas are Mangoes.
Conclusions: Conclusions:

I. No Files are Documents . Some Mangoes are not Apples
Il. Some Files can be Documents Il. Some Apples can be Mangoes



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Q5. Statements:

No Cups are Bowls.

Only a few Bowls are Plates.
Only a few Plates are Glasses.

Conclusions:
I. Some Glasses are not Cups
Il. Some Bowls are not Plates
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Q6. Statements: Q9. Statements:
W>Q2P<Ns<A;N>R=X N>V2L20<W<A>D
Conclusions:I.LA>X I1I.Q>N Conclusions:I.N>0 II.A>0
Q7. Statements: Q10. Statements:

R R Y e < W>U2P<R<A;N<V=P
Conclusions: Conclusions: . W > N I.A>V
ILM>G II. M=H

Q8. Statements: L<C2F>K=2D>WM

Conclusions: ! 1 "
I.LL<FI.C>D f 4
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